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lll Semester B.Com. Examination, November/December 2016
(2015-16 & Onwards) (CBCS) (F+R)

COMMERCE
3.6 : Quantitative Analysis for Business Decision - Il
Time : 3 Hours ; Max. Marks : 70
Instructions : Answers should be written completely either in Englishorin
Kannada.
SECTION - A

1. Answerany five sub-questions. Each sub question carries two marks. (5x2=10)

a) What is meant by perfect correlation ?

Q) ‘TWOTREF" BT 0TI 2

b) State the assumptions of interpolation.
) ‘QoRT RIS BOSNYR, 25600,
)
)
)

State the components of time series. 6
%) ‘R0 Aoy BOBI) SPA.

9]

d) If bxy = 1.2, byx = 0.8, obtam i
@) bxy = 1.2, byx = 0.8 &5338, ‘1’ 8omo&ER00.
e) State any two merits of sampling.
Q) ‘BRT OB SUTOIRENNTR) S92

f) What are mutually exclusive events ?
OF°) WORT e B35308°, OTTERD ?

g) Distinguish between ‘parameter’ and ‘statistic’.
%) "TR0A0LITT TBY ALRE QYN Qg@aﬁﬁ@ﬁaﬂ% &P
SECTION-B

Answer any three questions from the following. Each question carries six marks.
: , (3x6=18)
2. Itis known that the population S.D in waiting time for new gas connection in a
particular town is 25 days. How large a sample should be chosen with an allowable
error of 6 days of the true average waiting time, at 95% confidence level ?
(Z value at 95% confidence level = 1:95),
2,000 SNOBY BRR Mo x° Bomsr BR300 TR TR PR3 0D TIPS V3O
25 DIRNLD 2T, doué W08, 95% 9, TWONSRLRT IS, DT AT
6 QT BOIVT @d@mdﬁ “Rngoch m‘«f DT, ?
(mzﬁﬁ SO ﬁo@a 95% S =3P, = 1.96).
P.T.O.
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3. A single card is chosen at random from a standard deck of 52 playing cards.
What is the probability of choosing
a) Akingoraclub ?
b) Akingoraqueen?
52 a0ty DSNFS 2,00 HSODT, 03 RRBTN
a) O3 BT U DSODR SROI0D ROYHS R, ?
) leptaASenpRephioimiasveseicijlessoy ROLIDER ), ?

4. Eind the index number for 2006 from the following table of index numbers, using
binomial expansion method.

Year : 2004 | 2005 | 2007 | 2008

Index No. : | 100 | 107 157 212

20063 SR T R, 09533, 391 L5083 DFONYOR LTROODS? 959 F* VPR,
FOTR0&TRORD. _.

o

==e: | 2004 | 2005 | 2007 | 2008

mmso#: 100 | 107 157 242

5. The following table shows the mean and standard deviation of prizes of two shares
in a stock exchange.

Shares Mean (in Rs.) | Standard deviation (in Rs.)

A Ltd. 39.5 10.8

B Ltd. 47.5 16

If the correlation coefficient between the prices of two shares is 0.42, find the
most likely price of share A Ltd., corresponding to price of Rs. 55 of share of
B.Lid.,

$e30m8 Tesoton o7 0% ATRRO Fo%) FRPESS DSOSOLR) IRETTT

fot | owRd(de) | IIRHSDUR(3s.)
A Ltd. 395 108

B Ltd. 47.5 : 16

FBR0200 BN 0.42 =T33 ‘B’ O0e3ms eds I 8w, 55 0TI ‘A DHETS
608 WSO FOrOERED.
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6. Obtain the rank coefficient of correlation from the following data.

Prize of Tea (Rs.) 75 88 95 - |- 70| 6080 81 50

Prize of Coffee (Rs.): | 120 | 134 | 150 | 115 | 110 | 140 | 142 | 100
1 30300 WE90BLOTS “ROITT R0 T T3, 08° ATAOWOT HBMILITRR, FOTROND.

WmRweS(cn.) | 75 | 88 | 95 | 70 | 60 | 80 | 81 | 50

aacg;o:baﬂeﬂ(d@) 120 | 134 | 150 | 115| 110 | 140 | 142 | 100

SECTION-C

Answer any three questions from the following. Each question carries
fourteen marks. (3x14=42)

7. The following data relates to the number of passenger car (in Millions) sold from
2000 to 20086.

Year: | 2000 | 2001 2002 | 2003 | 2004 | 2005 | 2006

Number : 6.7 53 4.3 6.1 56 79 5.8

a) Fita straight line trend to the data and obtain the trend values.
b) Estimate the sale of cars for the year 2010.

3R BRETIT BIR&e, 2000 00T 2006T &I WRARTIT FITING SPTIW
(2000557199,

SR 2000 | 2001 2002 | 2003 | 2004 | 2005 | 2006

VO Ple ) ﬁoas;: 6.7 5.3 4.3 6.1 5.6 7.9 5.8

a) BRLT @08 OB ATY B Fotomd BRORR, BTG BIPONER), FOROELECLD.
b) 2010 SRF T 0T SPTLITR, OTOTR. |

8. From the following data, find out the number of students who secured more than
40 but less than 45 marks. *

Marks : 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students : | 31 42 o1k 38 31 :
391 ER6I00R BR&I00840803 T STFA5 e208reNce SRR BREODR DIPFY
2023, 0393 5T R0,
DOTNATY: 30-40 | 40-50 | 50-60 | 60-70 | 70-80.

amﬂarr{#ﬁo&};: 31 42 51 35 31
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9. From the following data on six cities, calculate the coefficient of correlation
between density of population and death rate.

City : A B ® D E F

Density of population : | 200 500 400 700, 600 300

Population ('000) : 30 90 40 42 J& 24

No. of deaths : 300 1440 560 840 1224 312

397 BRHDS SRbichd wEmeEE | WK ‘Wi FRne'd A0oN AER0WOT
RErors BorxR0.

Sng: A B C D E e

25550535 Aplelatc 200 500 400 700 600 300

SRREEVE 30 90 40 42 72 24
5080 Ros 300 | 1440 | 560 | 840 | 1224 | 312
10. Estimate the revenue generated for the year 2013 and 2015 from the foilowing
table. '
Year : 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
Revenue (Rs. in Crores) : | 100 | 120 | 150 | - | 210 | - [320
2013 5358320153 SRF RS STR0b GUTIRRY SO, |
et 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
Br3ood (dpeed SR )| 100 | 120 | 150 - | 210 - 320

11. Obtain the two regression equations from the following data and estimate the
value of X when Y = 50 and the value of Y when X = 45.

X 40 50 38 60 65 50 35

Y-8 60 55 70 | 60 48 | 30
31 810630058 DICRPOT TR &o0w30D BBROLFBNIRS FordEEAc0 Tt Y = 50 9N
X' 2365030y w3 X = 45 i 'Y’ Pes) BoriR0000.

X | 4 | 50 38|60 | erLs0 (] 5
Yy | 38 | €0 567" 270 [<TB0 | 48 =D
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Il Semester B.Com. Examination, November/December 2017
(Semester Scheme) (2015-16 and Onwards) (CBCS) (F + R)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - I

Time : 3 Hours Max. Marks : 70

Instructions:  Answers should be written completely either in English or
in Kannada.

SECTION-A
1. Answerany five sub-questions. Each sub-question carries two marks. (5%x2=10)
CIRYTOTTR T LUBBINOT CUZOR. B SOTBITT 2 oBned.
a) What do you mean by correlation ?
ABIOOG OB ?
b) If bxy =—-0.36, byx = —1.38, obtain ‘r’.
bxy = —0.36, byx = —1.38, &35 ‘I’ 30R&R00.

c) Write the meaning of irregular variations.
320308008 WTEIDTEFHO3D wcﬁrddg{ PR,

d) Expand (y - 1)6 = 0.
(y-=1)9%=0 VTR, RO

e) What is meant by multi-stage sampling ?
WRIBOBE RBNEO 0T3P

f) Mention methods of sampling.
DRTOCH &)qﬁﬁe;aigt SR,

g) What is probability ?
ROIRICODB 03T 2

P.T.O.
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: SECTION-B
Answerany three questions from the following. Each question carriessixmarks. (3x6=18)
OSRR)TTITITL TDORTO @%ﬁ@ﬁ SUB0R. B3 gﬁqﬁ €285 903N

2. Ranks given in a music contest aésigned by two judges are given below :
JudgeA: 4 5 8 6 73 3 1 2
JudgeB: 7 5 4 1 3 2 6 8
Calculate rank correlation.

Rone3 A 0308 5eIDd SeRPFINPCC) B BFFOB Feednv) QeRTI=T.
Senrsnos A 4 5 8 6 7 3 1 2
seSnFSmS B: 7 Tigetac bt Sl - e s ol
308 RRRoL0FRY FoRABOD.

3. Calculate the two regression equations from the following data :
X =20, Y =12, 6x=5, 6, =25,r=0.8.
B3NS DRTRLOT DR 0L3OBOZ BB, FOBIROD.
X =20, Y =12, 6x=5, 6, =25,r=0.8.

4. Estimate the population of India for the year 2021 using Binomial expansion
method from the following data :

Year: 1961 1971 1981 1991 2001 2011

Population : 439 548 684 8 100 111

(in crores) ; _
20213 ¢33 wSx0s3 01R) 83 B9 wespd pesleven e ARATMERAVEV SN D AL RO
€I0TIOBR.

SR 1961 1971 1981 1991 2001 2011

wRKosd : 439 548 684 8 100 111

(Bnesnvd)
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5. Aman wants to check the inventory records against the physical inventories by

a sample survey, permitted deviation is + 5 and standard deviation is 39.4. Find

the sample size, if the confidence level | Is 90% (Value of confidence co-efficient
90% = 1.64). -

ROBONG tde3 B0 B 88 BOBNY I3 wbe@cx:b T QOEBES SoT3e @éé =0T

eIRRS +5, mras eégda 39.4 &2y 502365:’0&3 90%, 533 mcs’ao:o tﬁ&@dwa‘%
ﬁoz:baoam (a%ow%o:‘o testablant.d 90% =1 64)

6. Two unbiased dice are thrown. Find the probability that
a) both the dice show the same digits
b) the first die shows 5.
PNolec®) #mé@ed @7 53 DRI, NOMGcﬁ:@m BOTD SBOND.
a) 0 BAND 2u0Te ﬁo&:’goﬁz@{ Beedmon
b) Sz BR° :30335 5 Enedamon.

SECTION-C

Answerany three questions from the following. Each question carriesfourteen marks.

(3x14=42)
R mride Baeth Farert eugos B TF14 oty

7. Compute Pearson’s correlation co-efficient for the following data and also calculate
the probable error.

Supply : 30 29 29 25 24 o4 o4 PRSiER 18
(quintals)

Price®) : 11 12 183 14 15 16 18 ¢ 18 2

59T Satipos Kok o000 28 eieioter aatiorAgd megsoton AmRonoE) Sy
=8 e ForEecd sqsommom

Rowoewd: 30 29 29 25 4 24 242 18
(3ptoee)

VSR : 11 122713 = g5 5 g g 18 20
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8.

10.

11

Calculate trend values by the method of least-squares from the data given below :

Year : 2009 2010 2011 2012 2013 2014 2015 2016
Sales : 76 80 - 130 144> - 138: . 120 174 . 190
(Rs. lakhs)

Plot the values on a graph. Also estimate the sales for 2017.
a‘@iﬁﬁs‘ DIV 2,000 BT TGO BR0QD TN TeasoTBosdd) E5 0 WS
no

84 5% 20178 5000 FHOIT) BOBEBOND.
®™RE ;2009 2010 2011 2012 2013 2014 2015 2016
TR 76 80 130 144 138 120 174 190
(3. OERYQ)

The heights (in inches) of a group of fathers and sons are given below :
Height of fathers:71 68 66 67 70 71 70 73 72 65 66
Heightofsons :69 64 65 63 65 62 65 64 66 69 62

Find the lines'of regression and estimate the height of son when the height of
father is 69 inches.

I Boeds0= Bowd R0 mgﬁs NFODOTI 30O deaﬁﬁ#zﬁi FOBOBROWD. BoT3C T
69 902370 BTN WM N ) DOT LTI

Bordod 2T 71 68 66 67 70-71° 70 713 72 6565
&%@fs‘ag‘d: 69 64 65 63 65 62 65 64 66 69 62

Below are the data relating to wages earned by workers per day in a certain
factory. Calculate the number of workers earning more than X 75 per day by
applying Newton’s method.

Daily wages R)upto: 50 60 70 80 90 100
Numberofworkers : 50 150 300 500 700 800

52300 S5 TSNS TR0 BT NVAT B8, WOLIOPRTI TEEITI) T DBURNG. Og,
an. 75%03 ﬁzd% am@ NYRIT TIFTO ﬁo&%odadg{ BOTOBROWD. BRLD® a@a“dag
E:BR’QSO&D?Q&

B3 AN 32 (X) 3 ¢ 50 60 70 80 90 100

T 8T Ko : 50 =150 3007504500 S5700 525800
Estimate the production for the years 2013 and 2015 with the help of the following data :
Year : 2010 2011 2012 2013 2014 2015 2016

Production (in’000tonnes): 200 220 260 7?7 350 ? 430
3SR QR 208¢303nP RTDE30E 2013 333 2015 SR B SISO 20RO FRE.
SR : 2010 2011 2012 2013 2014 2015 2016
evzRER ('000 L' ndY) 200 220 260 7 - 350 ? 430
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Il Semester B.Com. Examination, November/December 2018
(Semester Scheme) (CBCS) (F + R) (2015-16 and Onwards)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - I
Time : 3 Hours Max. Marks : 70

Instructions : Answers should be written completely either in
English or in Kannada.

SECTION - A
1. Answer any five of the following sub-questions. Each sub-question carries
2 marks. (5%2=10)
a) What is a linear correlation ?
b) What are the regression lines ?
c) State the components of time series.
d) Expand (y —1)°>=0.
e) What is sampling distribution ?
f) What do you mean by population of universe ?
g) What are independent events ?
SECTION - B
Answer any three of the following questions. Each question carries 6 marks.
(3%6=18)
2. Find the rank correlation for the following data and give your comments :
Marks in Accounts (X) : 84 | 56| 89| 58| 59 | 67| 74| 78
Marks in Maths (Y) : 38 |..689.1 56.|..58.|.:63: hadB8i B |77
3. You are given the following data :
Variables X Y
Mean 47 96
Variance 64 81
Correlation co-efficient 0.36
between X and Y :

Calculate the regression line X on Y and also calculate X when Y = 88.

4, Interpolate the exports made in 2014 from the following using Binomial
expansion method.

Year

2012

2013

2014

2015

2016

2017

Exports (Crores )

210

230

?

280

300

350

P.T.O.
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5. What are different non-probability sampling techniques ?
6. The probability of an Indian having a car is 26%, the probability of Indian having

a house is 40%. The probability of Indian owning a car and a house is 18%.
What is the probability that Indian owns a car or a house ?

SECTION -C
Answer any three of the following question. Each question carries 14 marks.
(3x14=42)
7. From the following table, find out Karl Pearson’s co-efficient of correlation
between age and reading habits of students.

Age : 15 16 17 18 19 20
No. of students : 250 200 150 120 100 80
Regular Readers : 200 150 90 48 30 12

8. From the following data :
a) Calculate two regression equations.
b) Estimate the value of X when Y = 80 and Y when X = 90.

c) Determine the value of correlation co-efficient through the regression
co-efficients. :

X 40 48 52 68 72
Y 20 24 28 36 52
9. The following are the annual profits of a certain business.
Year’s 2011 | 2012 | 2013 2014] 2015] 2016 2017

Profits (in’000’s) 65 77 80 70 85 90 100
a) Fit a straight line trend to these figures by the method of least squares.
b) Estimate the profit for the year 2021.

c) Plot the actual and trend values on a graph.

10. Estimate the steel production for the year 2013 and 2015 with the help of the
following table :

Year : 2010 | 2011| 2012 | 2013 | 2014 | 2015 2016

Steel Production
(in 000 tonnes)

150 180 220 ? 330 ? 450

11. The following are the annual premium charged by an Insurance company for
a policy of Rs. 1,000. Estimate the premium payable at the age of 26 by using
Newton’s method.

Age (in years) 20 ok = = =
Premium (3)
(for % 1,000 policy) 2832630 | 35 42
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39E U
QTN — D
1. 39NS cInameEte B ¢uE FIReR Kugon. B woE T3 AT eovrid.  (5%2=10)
a) wotie D3Y BRI (OEAONT®) RBHOLIOT DOTTEI ?
b) &03eP03 BesdndorsSesd 2 '
C) AOOIT FTEIoD 0N E.
d) am=) 5o% (y—1)°=0.
e) [NTWO VSTF OTTERD 7
f) it eRdnessnd FRnms errdsed ?
9) B30, P DoTTE ?
TIN — W
30T CIRYIRTTR Tt BINV wuOR. B8 Tt € woBrib. (3%6=18)
2. 39508 QWINPT Jeed A% AOLIOTTR) TORIBROND 302 73,35, IR,
ﬁ%m%dgﬁ eoznsd (X) : 84 | 56| 89 58 it e e s il i bl U
ﬁ?égm%dc?ﬁ woensd (Y):| 38| 69| 56 | 58 63 L 8L 87 L/
3. 3Rort 9N LFIMIRY, VeFRNT -
30 X Y
yjeprite) 47 96
zpﬁdé 64 81
XZRY nv S@008 Amgowos 636
BT :

X @B Y I HoBodod ﬁémeﬁdsaﬁs:g FoBIGLBOWD, Toriodde, Y = 88 wﬁm'%ﬁ, X3

BSoDRY BomEBOWE.

4. 893 DFONOS MRLEDE' HFOR OMIBE, 2014 e FRFH TPy FoREEWR.
wRE 2012 2013 | 2014 2015 2016 2017
d@ R0 TR, neY. 210 230 v 280 300 350

5. RowRReon3oher Ha% SRE0 203RE: IR 7

6. 0.0, TROIOLR TURY FPoOTR RosRecDHS Feaw 26, Bodchd, Fponds
RoBmReons 363 40. T0R) TR F F0RIR BRCOTR Ropdechs Seaz 18,

BINTO LTI FoTD e B0 BR0NTIN BoLIRRec3B030eR0 9
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: TN = X
FPB0R CINT)TIORTH AT TIRR wvgon. B8 TIR BOToL, @osNEd. (3x14=42)
7. 89803 Bedo00T WTPFNCOT SR BB LB DAL QTE RBROWOT

RBRILBTI) TS F LODT RIS DPSEE, FoR&BOWD.

sﬁaﬁamﬁ 15 16 17 18 19 20
NI, PENG z;”os% : 250 200 150 120 100 80
VoW LTHNTH : 200 150 90 48 30 12
8. 350 FTNYoss
a) A0 &oOFOD :dmeﬁdsarf@a'igt FOTOLROD.
b) Y=80amnXs Wdods), =B X = 90 QRN Y3 TNy, ok,
C) &OBOFOD ABRILBNY BT FBH0OT ROEIBRRD. ORI BCWD.
X 40 48 52 68 72
Y 20 24 28 36 52
9. #8503 3N, é@@ R VHITE TS SOPRTINGS,
SR 2011| 2012| 2013 | 2014 | 2015| 2016| 2017
SN (000 Se. R99) | 65 | 77 | 80 | 70 | 85 | 90 | 100

B3 208 O3NS AT ¢

a) R, BAF TR

&

(35

b) 2021 J¢ SRS PN SICant- LI
C) T I FF RPN, Jeem SO 1O

20T ST Beadod g’aﬁﬂgodaafgt BRODD.

10. 3R ﬁm%dm ﬁ%oaoocﬁ 2013 ng 2015 Se IR Ree® w%dﬁodaﬁgt 20TV WNE.
TR : 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
ngc:f LUSITI ;

w 1 1 220 9 ? 4
(000 e 50 80 2 330 50
11. de. 1,000 r¢ OR OR» FoBRCWET DPREAMOT TO&FD 800N Q[T

3950m083. 26 Fe VOVAFY, Feded E00D0RY, T, EITORC DEOVROT LoTRd
RN,

TR ([RFAYY ) 20 25 30 35 40

&,0800300 (8. RYS, )

2%, LaisRonn 23 26 30 35 42




Q.P. Code : 13324

Third Semester B.Com. (Regular/Tourism /LS/SP)
Degree Examination, November/December 2019

{CBCS Scheme)
Commerce

Paper 3.6 - QUANTITATIVE ANALYSIS FOR BUSINESS
' DECISIONS - II

Time : 3 Hours] {Max. Marks : 70

Instructions to Candidates : Answer should be written in English.

SECTION - A

Answer any FIVE of the following questions. Each question carries 2 marks :

(5 x2=10)
1. {a} What is the meaning of Positive and Negative Correlation?

(b} What is meant by Interpolation and Extrapolation?

{c) Write the meaning of Irregular variations.

(d) State the methods of non-probability sampling.

(e} It r=10.6 and N = 64 find ocut the probable error.

{  What is meant by Sampling?

(8 Expand (y-1)°.

SECTION - B

Answer any THREE of the following questions. Each question carries & marks :
{3 x6=18)

2. Find the Karl Pearson’s coefficient of correlation between sales and advertising
expenditure from the following data :

Sales (Rs. in lakhs) : 65 66 67 68 69 70 71 72 73
Advertising Exp. Rs. in 000°: 66 67 64 67 71 69 70 68 70

3. Estimate missing data from the following using Binomial Expansion formula :
Year : 2006 2007 2008 2009 2010 2011

Exports : 2,100 2,300 2 2,800 3,000 3,500

1/3
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4.

10.

A box contains 5 white, 4 red and 8 black balls. Find out the probability of
getting a white or black ball in a single draw.

Formulate X on Y regression line from the following data :
X: 40 32 38 42 36 46

Y: 30 35 40 36 28 35

Calculate trend values by the method of ‘least squares’.
Year : 2006 2007 2008 2009 2010

Production in 000 units : 100 120 136 124 118

SECTION - C

Answer any THREE of the following questions. Each question carries 14 marks -
: (3 x 14 = 42)

10 student obtained the following marks in Statistics and Accountancy Calculate
Rank correlation : : ;

Marks in Statistics : 81 90 21 87 98 80 98 90 98 70
Marks in Accountancy : 75 73 85 70 76 82 65 76 68 80

Given the following data :
X 1@ 3 51
1 1

(a) Fit a regression line of X on Y and Predict Xif Y=2.5
(b) Fit a regression line of Y on X and Predict Yif X = 5.

Given below are the figures of production (tons) of a sugar factory :
Year : | 2005 2006 2007 2008 2009 2010 2011 2012

Production Tons: 150 154 176 188 170 182 '@ 196 180

. (a) Fit a straight line by ‘Least Squares’ method

(b) Show the actual and trend line on a graph sheet and
(c) Estimate the production for the year 2013.

By using Newton’s Advancing Difference method estimate the number of persons
earning wages between Rs.160 and Rs. 190 per day.

Wages per day Rs.: Below 140 140-160 160-180 180-200 200-220
Number of persons : 500 240 200 140 100

2/3
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Reg. No.

-

II1 Semester B.Com. Degree Examination, March/April - 2021
COMMERCE

Business Data Analysis
(CBCS 2019-20 Onwards Scheme)

Time : 3 Hours : Maximum Marks : 70
Instructions to Candidates:

Answers should be written either completely in English or in Kannada.-

SECTION-A
1. Answer any five sub-questions. Each sub-question carries two marks. (5%x2=10)
a)  Define “statistics”.
b)  State any four requistiés ofa good average:
¢) Whatis “Skewness”? ‘
d) Whatisa “probable error™?
e) Whatdoyoumeanby “Trend”?
f) Find median, ifAM=12and Z=13. ,

g)  Givethe meaning of “Interpolation™.

SECTION-B
Answer any Three of the following questions. Each question carries five marks.(3%5=15)

2.  Inastate there were 80 lakh people. Out of these, 50 lakh people live in urban areas and the
rest in rural areas. In urban areas there were 25 lakh male people, out of which 15 lakh are
illiterate. In urban areas 13 lakh ladies were illiterates. In rural areas there were 20 lakh
male people out of which 12 lakh were literate, in rural areas illiterate ladies were 3 lakh.
Tabulate the above information.

"~ 3. The following table shows the results of BBA students of a college for the last 3 years,
Draw a multiple bar diagram.

Year First class Second class Pass class Failed
2018 26 33 30 7
2019 31 27 04 12

2020 37 o A 20 7
' [P.T.O.
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Calculate arithmetic Mean from the following distribution. _
Marks : s 1D opiap 3040 4050 5060 6070
No. of students: 5 11 18 12 8 4

From the data given below, find the probable production for the year 2010 by using Binomial
expansion method. :

Year: 2000 2005 2010 2015 2020
Production in 000’ tons : 20 22 ? 30 35
SECTION-C
Answer any Three of the following questions. Each question carries fifteen marks.
(3x15=45)

Following are the runs scored by two batsman ‘A’ and ‘B’ are given below :

A: 60 50 40 80 90 30 70

B: 50 60 40 30 8 70 20

Find which of the batsman is consistent in scoring runs and better run getter.
Compute Karl Pearson’s coefficient ot; skewness for the following distribution.
Cl : 100200 200-300  300-400 400-500  500-600 600-700  700-800
it 4 10 18 12 3 2 1

Following are the two variables - Demand (X) and supply (Y) fora particular goods. Find
the coefficient of correlation between the variables and interpret the rusult by finding
probable error. |

Demand (X) : 39 65 62 90 8 75 25 98 36 78
Supply (Y) : 47 53 58 8 62 68 60 91 5] g4

Following are the data relating to Swastik Wheels Ltd. car production for seven years.
Compute the trend values by the least square method and show them on a graph.

Year : 2014 2015 2016 2017 2018 2019 2020
Production of cars (in “000") 12 10 14 11 13 15 16




